5.4 NUMDErs in gxpanded Form

Expanded form of 5 number can be obtained by breaking it and using the
place value of digits in the number.

gxample 1: Write the expanded Example 2 : Write the expanded
form of number 48, form of number 90.
4 8 9 0
( L80nes(8><1='8) ‘ ‘—Oones(Ox1=0)
; 4 tens (4 x 10 = 40) 9tens (9 x 10 =90)
Expanded form of nymber Expanded form of number
LT, 48 = 40 + 8. 90 = 90 + O.
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Write the numbers given below in expanded form :

e i 13. 50 = 50+9
A0+ 2 oF X
2- 32 o RIS A 14. 97 = 9
309 Ty
3- 39 - j\‘ N 15. 16 L \—(, . :‘
4- 66 — (-\ | 16. 89 = :}t{:%‘\“\
5. 79 = V 17.74 = ——
i )0+ 4
6' 82 = ' 18 24 = > -
' ‘Riy '.';\i o
7. 98 = 19.78 = ——
8. 56 = —— 20. 86 = —
| + % 2 P N
= : 21. 90 = 1 wal
10.19 = —— 72 = 2
12.55 = bis A 24. 99 = 1044

an



9.5 Numbers in Compact Form o the dgits 0-9 according
The compact form of a number is written using

their place value. Example 2 : Write 40 4 i
Example 1 : Write 80 + 7 in ' compact form.
compact form.
40 + O
80 + 7 ‘ |_
| O ones
[ vy L__Mens
ens

‘ rm of 40 + -
Compact form of 80 + 2287 Compact form of 40 + 0= 4

.; :.\i,'r'\v\ m

Write in compact form

1520 + 6= y I

230 +6=3L " | 10.60
3. 60 + 8 = 6& 11. 80
4.30 +8=[3 0" | 12.50

5.20+3=23 | 13.70
6.40+7=97 | 14.60

7.50 +0 =58 | 15.0p

8.00 +2=/00% | 16.00 4




